[ number of missing inner layers | [ number of missing outer layers |

1g - - - - —] Entries 141211 1g - - - - —] Entries 141211
3 : : : : + | Mean 0 3 : : : : + | Mean 0
r Std Dev 0 r Std Dev 0
A ; ; ; I L ; ; ; I
10°E Entries 138339 10°E Entries 138339
F Mean 0 F Mean 0
C Std Dev 0 C Std Dev 0
2L | 2L |
10 3 Entries 138139 10 3 Entries 138139
F Mean 0 F Mean 0
3 r Std Dev 0 3 r Std Dev 0
10°F ] 10°F EEEEEE EERE SRR |
o Entries 138157 o Entries 138157
r Mean r Mean
I Std D I Std D
107 107
-5 e -5 e
10 °E 10 °E
01969....IIIIIIII 01969....IIIIIIII
g F g
o [ H o [ H
r— r—
0.95L : : : : : : : . : 0.95L : : : : : : : . :
0V 05 115 2 25 3 35 4 45 5 0 05 115 2 25 3 35 4 45 5

— B Entries 141211
E Mean 2
%) '_ Std Dev. 0
@ 4.5F N
2 4:_ ' [Entries 138339
E - Mean 2
V] = Std Dev_ i 0
3.5F |
C | Entries 138139
3 Mean 2
o Std Dev 0
2.5 v ]
E H H Entries 138157
2:— - - - -ERARRRERRAREERE: - - - - Mean 2
F N N Std Dev 0
1.5 N
= 10°E
0.5 r
SV PPN PP IR SN PP B o suoh i
5 | A
o L . . . . @ L
It----- RACRARRRRARRIRE - - - - arpaannrRRaRRRORG 00 1t
0.95 : : : : : 0.95 : : : . : . : : :
=3 -2 -1 0 1 2 3 0V 05 115 2 25 3 35 4 45 5
track n track hits
[ N of simulated tracks vs pT | [N of reco track vs pT |
Entries 133002 - - Entries 6081460
Mean 2.164 N Mean 3.078
Std Dev 6.079 = Std Dev 24.41
: I 107 g T T
Entries 133002 - Entries 6020934
Mean 2.164 r Mean 3.083
Std Dev 6.079 2 Std Dev 24.45
; T 10°F ; T
Entries 133002 F Entries 6016348
Lﬁi?n 2.164 I Mean 3.084
SteyDev 6.079 -3 Dev 24.46
10°F
Entries 133002 E Entries 6017576
N Mean 2.164 - Mean 3.084
| N Std Dev 6.079 10—4 L Std Dev 24.46
-5
10°F
o10%F
=
< L
a4 [
-
0.95!




	Contents
	Page 1


